7/C1.1

%
5
S
]
Q
ko]
-
g
3| =
_._M._%
<
o
L
| |z
nEE
HAEE
[e0)
32
Al
m
1. s
u ||
o8l
(qV]
ﬁ%1
@)
Z




Material

No. Plan Article Quantity
[1 Nut M8 Black 1996213 2
2 X005575 2023600 2
3 Y011640 1655154 1
4 Y011652 1655254 1
5 Y011748 1659900 2
6 Y012123 1675800 2
|7 YP06458 2734454 (35) 1
Y011405 1657354 (40) 1
Y011746 1663054 (45) 1
Y011938 1663154 (50) 1
8 YP0B455 2734354 (35) 1
Y010813 1638754 (40) 1
Y007691 1662854 (45) 1
Y009834 1662954 (50) 1
9 M6x16 DIN912 2994065 8
10 M8 DIN126 1996214 1
11 M6 DIN125 2994414 12
12 Cap 20x20 1001612 2
13 M6 DIN985 2994063 1
14 Gas spring 400N 1005602 1
15 M6x35 2994131 1
16 M6x45 1ISO7380 2994086 2
17 M8x40 1ISO7380 2994309 2
18 Control screw M7 1900008 1
19 M8x60 1ISO7380 2995491 4
20 L35 Black Soft 35 2995554 1
L35 Black Soft 40 2995555 1
L35 Black Soft 45 2995556 1
L35 Black Soft 50 2995557 1
21 Board 35 2996475 1
Board 40 1901287 1
Board 45 1901288 1
Board 50 1901289 1
22 M8x45 1915945 2

Plan No.
INOVYS 2 EVO B23 SEAT FRAME e
Scale: Drafted Verified Confirmed
Date 12/07/2022 28/03/2024 28/03/2024
VERMEIREN
Initials DR PM AZ Q09




